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AERFRA | IRz —R | hETR 4 AR RES | BERE R XA Y R s ey
FERG IR 10212 ALV FE X = A 1001A 9 49650.299 -50107.249 202.808|  F23BAANETISE
e 10212 FEDT X =405 1002A 9 49515.387 -49644.875 196.469] 23RN HETISE
FERG IR 10212 ALV FE X = A 1003A 9 49058.655 -49566.948 190.024| 23RN TISE
e 10212 FEVT X =4 05 1004A 9 49013.612 -50254.39 205.93| F23BHAFETISE
FERG IR 10212 ALV FE X = A 1005A 9 48817.307 -49918.171 188.825|  L23RHAEETISE
e 10212 FEDT X =405 1006A 9 48412.036 -50084.492 184.298]  W23RHAHETISE
FERG IR 10212 ALV FE X = A 1007A 9 48378.92 -49607.8 171.766] 23RN TIS &
e 10212 FEDT X =8 05 1008A 9 48345.144 -50578.19 197.325]  W23RHAHETISE
FEG I 10212 HET FE X = A 1009A 9 48015.082 -49870.119 178.473|  W-23BAAEETI8E
FERS IR 10212 FEVTT X =4 5 1010A 9 47874.901 -49477.882 177.18] 23BN TI8E
FEG I 10212 HET FE X = A 1011A 9 47851.456 -50665.864 191.009| F23BAEETI8E
TS IR 10212 FEVTT X =4 5 1012A 9 47456.406 -49217.245 171.857| 23BN ETI8E
FEG I 10212 HEDT FE X = A 1013A 9 47422.986 -49879.466 172.115 23BN T85
TS IR 10212 FEDTT X =4 5 1014A 9 47316.182 -50442.397 181.007| W23BAAETI8E
HEG I 10212 HET FE X = A 1015A 9 47250.834 -48832.88 168.066| 23RN TI8E
FERS IR 10212 FEDTT X =4 5 1016A 9 47083.319 -49488.762 168.325 23BN ETI8E
FES I 10212 HET FE X = A 1017A 9 46948.957 -48442.048 159.228] 23BN TI8E
FERS IR 10212 FEVTT X =4 5 1018A 9 46925.088 -48970.806 164.213] 23BN ETI8E
TS R 10212 HET FE X = A 1019A 9 46775.546 -50321.554 167.136] 23N TI8E
iz ==y 1=N 10212 HEVTH X =4 1020A 9 46782.543 -49776.634 164.434| 23BN ETIRE
TS R 10212 HEVT FE X = A 5 1021A 9 46309.148 -48406.462 154.134] 23N TI8E
FERS IR 10212 B EVTHT HIX = 0 1022A 9 46281.551 -49943.294 158.719] 23BN ETI8E
TS R 10212 HEVT FE X = A 1023A 9 46276.458 -49353.677 157.458] 23BN TI8E
iz ==y 1=N 10212 HEVTH X =4 1024A 9 46266.719 -48813.169 155.223|  F23BAAETI8E
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